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

Time : 2 Hours        [Maximum Marks : 70

Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed

instructions given therein. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be issued.

  



        

         

       
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Section–A / 

(Long Answer Type Questions) /    

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. Explain in details the Kaldor's theory of trade cycle.

       



2. Distinguish between average propensity to consume

and marginal propensity to consume and explain the

relationship between marginal propensity to consume

and income.

     

        

   
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3. How flexible accelerator theory is an improvement

over the accelerator theory of investment. Explain it

in detail.

       

     

4. Define National income and explain its characteris-

tics, different concepts and limitations.



      

5. Discuss the significance of macroeconomic

analysis. What are its limitations ?

       

   

Section–B / 

(Short-Answer-Type Questions) /    

Note :Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

(4×8=32)
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    (08)      

      (08)   

  (04)  

 

1. Explain the nature and objectives of macroeconomics.

       

2. Discuss the life cycle theory of the consumption.

       

3. What is investment multiplier? What are its assump-

tions.

       

4. Distinguish between trade cycle theory of Hawtrey

and Hayek.

         



5. Explain the concept of marginal efficiency of in-

vestment.

       

6. Explain the importance and limitations of national

income data.
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        



7. Explain the 'Say's' Law of market.

     

8. Discuss the practical significance of Keynesian

theory of employment.

 



***************
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